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2u,+3u, =0, y:{y=5x+3}, u|,=x+y’ .11
4u,+5u, =0, y:{x+y=0}, u| =x"+y* .12

Uy +2uy, =0, y:{y:x , XSO}, U|,=x+sinxy .1.3
U +7u, =0, y:{x=24, ul =y +1 .14

2u, +u, =0, y:{y+x2-1:0,x20}, u|,=x*+1.15
DINWN DINTPN DY NN MXNWN .2

Uy +XUy =0, y:{y=3% x<0}, u|,=x-y .21

XU, +u, =0, y:{y=2}, u|,=x"+y* 2.2

%u +u, =0, y:{x=-1}, u| =x+y”> .23
{

| =x*+y+1 24

u
0}, u |yy—225
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XUy + YU, =Uu—xy, 7:{x=2,y>0}, u|,=y>+1.32

X+Y)U,+yu,+u=0, y: y_l u 3.1
y

2
uX+X—2uy—x2y2u:0, y:{2x+3y 0 u| _x+y 3.3
y

U +u, +u=1, y:{y:x+x2,x>0}, u|,=sinx .3.4
U, +u, —4xu=0, y:{x=2}, ul| =y -2 .35
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,u(X,y)=— (2y 3X—6)+ [3(2y—3x—6)+3} 1.1

2
u(x,y) = 2(5)( ; 4y] 1.2

y>2X, u(x,y)=1- 1—2x+y+sin[(l—1/1—2x+y)3}

ux,y)=(=7x+y+14) +1 14

A/8X—16 17 —
X 8y+ +9+42 8y+1 1.5

ys%xﬂ, u(x,y)=-

2

yg%, UX,y)=—6+29+x>-2y 2.1

x>0, u(x,y)=e2y2mx 4 5,
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uexy) = -1+ 0206+)

u(x, y)_(x——+2 2.4
2
y>20,x>20, u(x,y)= (—] -2 25
X

2
u(x,y) = (x=ymny) I

2y? 2y

X>0 ,u(x,y)= 2y +2y+5—xy 32

y [3 y3 [
u(x, y)_e {33 4 o g 0’ ]
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y>x,x>0 u(xy)_1+ sin/y — X — eﬁx
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u(x,y) = [(y —x+2) - 2]- e 35
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